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6" Grade GREEN CHAPTER 4 Practice 1

Find the area of the parallelogram, triangle, or trapezoid ‘. (2pts each) Answers
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Find the area of the composite figure. (3pts each) : : 2
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Find the area of the composite fngure (3pts each)
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Draw the polygon with the given vertices in a coordinate plane.
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Find the perimeter and the are}:l of the polygon with the given vertices.

9) H(3, 2) I(5,2) J(5,7) K3, 7).
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11) The vertices of a polygon are P(1, 1) Q(2, 5) R(4, 5) S(7, 1).
What is the SHAPE of the polygon?
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Find the area. ar AS 2
14) The base of a parallelogram is 134 and the heightlf is 8 yards. Whatis | 14) |OHrydl
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Find the area. ‘
15) The length of a parallelogram is two less than twice the height. The helght is7 centlmeters
What is the LENGTH and AREA of the parallelogram‘?
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A bench around the base of a tree is in the shape of a square and is made up of four trapezoids
of the same size. Answers the followmg questions.

16) What is the perimeter around the outsnde of the bench?
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The perimeter around the outside is: LYO() ),

~17) What is the area of ONE trapezoid?
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19) This is the front of a partially coilapsed barn. Find the area of the
front of the barn
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20) On a state map, the vertices of a county are A(10, 30) B(65,8Q C (65, 60) and D(10, 60).
The coordinates are measured in miles. What is the area of the county?
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